IMPROVEMENT/SUPPLEMENTARY EXAMINATION JANUARY -2022

ANSWER KEY (UNOFFICIAL) EXCLUDING THEORY PART

ACCOUNTANCY WITH AFS (CODE FY- 449)

Prepared by: RAMESH VP (HSST COMMERCE, GHSS KATTILANGADI)

	Prepared by: RAMESH VP (HSST COMMERCE, GHSS KATTILANGADI)					
		•	estions f	rom 1 to 8	3 .Each carries 1 Score.	
1	Α	CAPITAL				
2	С	LIABILITIES				
3	D	CASH BOOK				
4	D	CREDIT				
5	В	SALES				
6	В	CLOSING STOCK				
7	D	BADDEBTS				
8	Α	COMPUTERISED ACCOUNTING SYSTE	M			
		Answer any 3 q	uestions	from 9 to	14 .Each carries 2 Scores	
9		STATE THE MEANING OF ACCOUNTIN	G			
10		LISTOUT ANY TWO SUBDIVISIONS OF	JOURNA	L		
11		COPMLETE THE FOLLOWING TABLE				
		A) CASH BOOK		ALL RECE	IPTS ANS PAYMENTS OF CASH	
		B) PURCHASE BOOK		ALL CRED	IT PURCHASES OF GOODS	
		C)SALES BOOK		ALL CRED	IT SALES OF GOODS	
		IN BALANCE SHEET- ON ASSET SIDE				
12		LISTOUT ANY TWO CAUSES OF DEPRE	CIATION			
13		LISTOUT ANY TWO NEGOTIABLE INST	RUMENT	S		
14		STATE THE MEANING OF OUTSTANDI	NG EXPE	NSES		
		Answer any 3 qu	uestions f	rom 15 to	20 .Each carries 3 Scores	
15		EXPLAIN BUSINESS ENTITY CONCEPT	AND GOI	NG CONCE	ERN CONCEPT	
16		EXPLAIN THE SYSTEM OF MAINTAINI	NG PETTY	CASH BO	OK WITH EXAMPLE	
17		LIST OUT THE THREEE FACTORS OFFE	CTINGAN	OUNT OF	DEPRECIATION	
18		COMPLETE THE FOLLOWING ADJUSTI	NG ENTR	RY		
		ADJUSTENMENTS			ADJUSTING ENTRY	
		A) OUTSTANDING EXPENSES		EXPENSE		DR
					TO OUTSTANDING EXP	
		B) PREPAID EXPENSES		PREPAID	EXP	DR
					TOEXPENSE	
		C) DEPRECIATION		DEPRECIA	<u>ATION</u>	DR
					TO ASSETS	
19		STATEMENT OF PROFIT /LOSS:				
		CAPITAL AT THE END	6	00000		
		ADD DRAWINGS	1	00000		
			7	00000		
		LESS CAPITAL AT BEGINNING	4	50000		
		PROFIT	2	50000		
20			CREDITO	RS ACCOL	JNT	
		DT		DT		
					OPENING BALANCE	40000
		TO CASH	10000			
		TO CASH	10000			
		TO RETURN	1000		DV CDEDIT DUDGULAGES (DATA)	1
		CLOSING BALANCE	7000		BY CREDIT PURCHASES(BAL)	140000
			18000	0		180000

		Answer any 4	questions from 21 to 30 .Each ca	rries 4 Sco	res						
21	LIST COST OF GOODS SOLD= OP STOCK+PURCHASE+DIR. EXP-CLOSING STOCK										
22	EXPLAIN = 10000+22000+3000-8000										
	A) MONEY MEASUREM										
23	1	L ASPECT CONCEPT SH B/W JOURNAL AND	LEDGER								
23	DISTINGUI	3H b/ W JOOKNAL AND	LEDGER								
24	COMPLETE	THE FOLLOWING TABLE									
	ITEM DEBIT CREDIT										
	A AS	A ASSETS INCREASE DECREASE									
	B LI	ABILITIES	<u>DECREASE</u>	IN	CREASE						
	C EX	(PENSES	<u>INCREASE</u>	DE	CREASE						
	D RE	EVENUE	DECREASE	IN	CREASE						
25											
	DEDDE	CIATION= COST -SCRAP	/ALLIE / LIE VEADS								
	DLFKL		<u> </u>								
		= 500000-20000 /:	IU								
26	TWO OBJEC	= <u>48000</u> CTIVES OF TRIAL BALANC	<u></u>								
٥٧	- WO OBJEC	TIVES OF TRIAL BALANC	<u>,E</u>								
27											
	01-Ma	YIMAL		DR	50000	50000					
		TO SALES A/C				50000					
1		B/R		DR	50000						
		TO VIMALA/C				50000					
		BANK		DR	48500						
		DISCOUNT		DR	1500						
		TO B/R				50000					
	•	•		-							
28	B) WAGES ,	E) FUEL, G) FREIGHT, F									
29	l —		IN P&L ACCOUNT								
	TO INT	EREST	8000								
	l l -		2000 10000								
	-	*INTEREST ON IN	NVESTMENT DUE=100000 X 10 /1	100 = 1000	10						
			ANDING = 10000- 8000 PAID=20								
			IN BALANCE SHEET								
		L		Α							
	OUTST	ANDING INTEREST	2000								
30	FOUR ADVA	ANTAGES OF COMPUTER	R SYSTEM								
			questions from 31 to 40 .Each ca	rries 5 Sco	res						
31	FOUR OBJE	CTIVES OF ACCOUNTING									
32	ΕΧΡΙ ΔΙΝΙ ΝΑ	ATCHING CONCEPT AND	CONSERVATISM CONCEPT								
3 2	EXPLAIN MATCHING CONCEPT AND CONSERVATISM CONCEPT										

	ACCOUNTING EQUATION									
	LIABILITIES	+	CAPITAL	=		ASSETS				
	CREDITORS	+	CAPITAL	=	CASH +	FURNITURE	+	STOCK	+	DRS
Jan-01	0	+	500000	=	500000 +	0	+	0	+	0
2	0	+	0	=	(-100000)+	100000	+	0	+	0
NEW EQ.	0	+	500000	=	400000 +	100000	+	0	+	0
4	50000	+	0	=	0 +	0	+	50000`	+	0
NEW EQ.	50000	+	500000	=	400000 +	100000	+	50000	+	0
5	0	+	15000	=	+	0	+	(-30000)	+	45000
NEW EQ.	50000	+	515000	=	400000 +	100000	+	20000	+	45000
6	0	+	(-2000)	=	(-2000) +	0	+	0	+	0
NEW EQ.	50000	+	513000	=	398000 +	100000	+	20000	+	45000

DOUBLE COLUMN CASH BOOK

1											
DAT	RECEIPTS	R	LF	CASH	BANK	DA	YMENT	V	LF	CASH E	BANK
1	BALANCE			100000	50000	4	WARCHASE			20000	
						5	FURNITURE				30000
						6	SALARY			5000	
						30	BALANCE C/D			75000	20000
	TOTAL			100000	50000		TOTAL			100000	50000
1	BAL B/D			75000	20000						

ANAIVTICAL	DETTVCAG	LI BOOK

CASH REC.	DT	PARTICULARS	LF	VN	TOT PAY	STATIONER	POST	TRA EXP	CARTAGE	
1000	JN 1	CASH								
	1	CARTAGE			100				100	
	3	BUS FARE			50			50		
Ï	5	POSTAGE			60		60			
	8	TAXI CHARGE			100			100		
	10	STATIONERY			60	60				
					370	60	60	150	100	
	31	BALANCE			630					
1000					1000					
630	JL1	BALANCE								

BANK RECONCILIATION STATEMENT

BALANCE AS PER CASH BOOK		80000
ADD: CHEQUE ISSUESD BUT NOT PRESENTED		10000
		90000
LESS: BANK CHARGES	1000	
" CHEQUE DEPOSITED BUT NOT COLLECTED	15000	16000
BALANCE AS PER PASSBOOK		74000

TRIAL BALANCE

ACCOUNT	DEBIT	CREDIT
CAPITAL		100000
FURNITURE	20000	
SALES		80000
PURCHASES	50000	
SALARY	5000	
DRAWINGS	18000	
INTEREST RECEIVED		5000

CREDITORS		15000
DEBTORS	60000	
INVESTEMENT	47000	
	200000	200000

38

COST OF GOODS SOLD = OPNG STOCK + PURCHASES + DIRECT EXP- CLOSING STOCK

= 20000 + 300000 + 50000- 30000

= 340000

GROSS PROFIT = SALES -CGS

= 500000-340000

= 160000

39

TO BAD DEBTS
ADD FURTHER BADDEBTS
ADD NEW PROVISION FOR BADDEBTS

2000 1000 8000 **11000**

* NEW PROVISION=81000-1000 X 10/100 = 8000

DIFFERENCES BETWEEN MANUAL ACCOUNTING AND COMPUTERISED ACCOUNTING

Answer any 2 questions from 41 to 44. Each carries 8 Scores

	JOURNAL			
2021	CASH	DR	500000	
Jul-01	TO CAPITAL A/C			500000
l	(STARTED BUSINESS WITH CASH)			
2	MACHINERY	DR	100000	
	TO CASH A/C			100000
	()			
4	BANK	DR	200000	
	TO CASH			200000
	()			
6	PURCHASES	DR	60000	
	TO VISHNU			60000
	()			
8	CARRIAGE	DR	2000	
	TO CASH A/C			2000
	()			
10	CASH	DR	80000	
	TO SALES			80000
	()			
12	VISHNU	DR	40000	
	TO BANK			40000
	()			
15	CASH	DR	5000	
	TO COMMISSION			5000
	()			

40

41

202	21				
JUN	1	KUMAR TRADERS			
		50 BOOKS/30 EACH	1500		
		100 PEN/10EACH	1000		
			2500		
		LESS DISCOUNT10%	250		2250
	3	ANUJA STATIONERY			
		100 PACK PAPERS/200 EACH	20000		
		50 FILES/20 EACH	1000		
			21000		
		LESS DISCOUNT 5%	1050		19950
					22200

PURCHASE RETURN BOOK

2021			
JUN 2	KUMAR TRADERS		
	5 BOOKS/30 EACH	150	
	10 PEN/10EACH	100	
		250	
	LESS DISCOUNT10%	25	225
4	ANUJA STATIONERY		
	10 FILES/20 EACH	200	
	LESS DISCOUNT 5%	10	190
			415

43

TRADING AND PROFIT AND LOSS ACCOUNT FOR THE YEAR ENDED 31/3/2021						
го с	OPENING STOCK	12000	BY SALES	60000		
P	PURCHASE	38000				
٧	NAGES	2000	CLOSING STOCK	20000		
G	GROSS PROFIT C/D	28000				
		80000	7	80000		
S	SALARY	5000	BY GP B/D	28000		
C	OFFICE EXP	4000	COMMISSION	3000		
N	NET PROFIT	22000				
		31000	7	31000		
			7			

LIABILITIES		RS	ASSETS	RS
CREDITORS		17000		
			DEBTORS	20000
CAPITAL	66000		STOCK	20000
ADD NP	22000		FURNITURE	10000
	88000		BUILDING	50000
LESS DRAWINGS	5000	83000		
		100000		100000

44

A) OUTSTANDING EXPENSES?

ADJUSTING ENTRY-

EXPENSES A/S DR

TO EXPENSES OUTSTANDING

B) PREPAID EXPENSES?

ADJUSTING ENTRY-

PREPAID EXPENSES DR

TO EXPENSES

C) ACCRUED INCOME?

ADJUSTING ENTRY-

ACCRUED INCOME DR

TO INCOME

D) INCOME RECEIVED IN ADVANCE?

ADJUSTING ENTRY-

INCOME DR

TO INCOME RECEIVED IN ADVANCE

NOTE: THEORY QUESTIONS ARE NOT ANSWERED

PREPARED BY RAMESH V.P ,HSST COMMERCE. GHSS KATTILANGADI,MPM